
 
75

 

 
e.35

 

 
e.

50
 

 
i.5

0 
 

45
 

 
45

 

 35 

 38 

 
e.

38
 

 
i.3

8 

 270 

 
i.5

0 

   M12x1.25 

7x Short helical 
spring tensile
cod. 303949001

Pipe LHS s.s
cod. 3014349201

Pipe RHS s.s
cod. 3014349202

Pipe 2/1 s.s
cod. 3014405201

Pipe s.s
cod. 3014405203

Knurled collar nut
M8 Cod.200298

2x Plain washer 
8x 24

Cod.200321

2x s.s. Flange "112A" 
cod.204569

2x s.s. Bushing
cod.204833

Knurled collar nut
M6 Cod.200333

Allen screw 
M8X20 T.C.Z.B.
Cod.200722

Carbon heat shield
cod.0814405001

2x Mounting
plate M5 Z.B.
Cod.204555

Black bracket s.s.
Prod.cod.3014405501
cod.207062

2x Plain washer 
5x15 Inox Cod.406580

4 Gasket 
14x4.9x1.5 
Cod.200371

Carbon clamp "FR3"
Cod.308444501

Allen screw 
M6X50
Cod.204234

Al. spacer
27X 6.5

Cod. 205767

Aluminium spacer
Cod. 205866

Aluminium spacer
20X 6.5x25

Cod. 206434

Plain washer 
6x 12

Cod.200291
Allen screw M6X14
T.C.E.I.Z.B.
Cod.200257

OPTIONAL
cod.5683

FACTORY S silencer
carbon fiber
Cod.308436481

2x T.B.E.I. screw M5X12
Cod.201031

BIKE'S FRAME

BIKE'S FRAME

 105 

 1
45

 

Db-killer N°52B
Cod.308437801

 9
 

 12 
 

4 

 
44

 

 82 

 6
0 

 62 

S.s Flange 112A
cod.204569 Sp.5mm

 35,1 
 43 
 47 

 33 
 41 

 2
5,

5 

 1
8,

5 
 4

,5
 

 3
 

S.s bushing 
cod.204833 

ART. 14406S

YAMAHA YZF-R7 (Also fits 35kW version) 

FULL SYSTEM - FACTORY S - CARBON


	DT-14406S
	Vista del disegno13
	Vista del disegno14
	Vista del disegno15
	Vista del disegno16


